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TERM 2 MID-TERM EXAM 2011
MATHEMATICS FORM 3

NAME..........................................................................................ADM NO................CLASS.....

INSTRUCTIONS

i. Answer all questions ins Section I & 2
ii. All working should be shown on the provided space.

SECTION 1

1) Simplify the expression									(3mks)

x – 3  -  x2 – 3x
x – 3      x2 – 9














2) Use reciprocal tables to evaluate								(3mks)

      7        +     8
0.0385         0.4054










3) Solve the following simultaneous equations						(4mks)

2log10x =  log10 (y + 1)

log10 (x + y) = 0

















4) The angle of elevation of the top of a tower from a point x on the horizontal is 28.50. From another point Y, 8 meters near to the base of the tower from X, the angle of elevation of the top of the tower is 27.20. Calculate to one decimal place the height of the tower.	(4mks)





















5) Make D subject of the formula								(3mks)


A2 =     1 + D2 + B
               B2         3













6) Use logarithm to evaluate									(4mks)

    3  0.6254
  5.68 x     0.9275
















7) Two Lorries leave Nakuru towards Nairobi. The first lorry travels at 40km/hr while the second starts 30 min later and travels at 50km/h. After how long does the second lorry overtake the first lorry?									(3mks)





8) Simplifying the following  surds and leave and answer in the form b + c √a		(3mks)

      5           +        √2
2√2 - √5           2√2 + √5













9) In the figure below D is centre of the circle radius 5cm. AB is a chord of length 8cm. Calculate the area of the shaded segment.						(3mks)


















SECTION II

10) Water flows through a pipe of internal radius of 3.5cm at 9m per second into a storage tank of rectangular base of 12m by 8m. Calculate:

a) The volume of water delivered into the tank in one minute in litres.			(2mks)


b) The capacity of water in litres that is consumed by village of 435 families that depend on this water in one week; If each family consume an average of six jericans of 20 litres each per day.											(2mks)








c) The minimum height of the water level in the storage tank that will ensure that the village doesn’t suffer from water shortage within the week.					(2mks)








d) How long will it take the pipe to fill the tank to that level giving your answer in hours?													            (2mks)







e) Calculate the monthly bill of the village if the cost of water is sh. 1.50 per jerican (a month has 30 days)											(2mks)





11) Income rates for income earned were charged as follows.

Income in sh. per month		Rate in Kshs. per sh. 20
1 – 8400				2
8401 – 18000			3
18001 – 30000			4
30001 – 36000			5
36001 – 48000			6
48001 and above			7
A civil servant earns a monthly salary of Kshs. 19,200. His house allowance is Kshs. 12000 p.m. Other allowances are shs.13000 for transport and shs.2, 300 for medical on monthly basis. He is entitled to a family relief of Kshs. 1240 p.m. Determine.

a) i) His monthly taxable income								(2mks)







ii) Net PAYE										(5mks)




















b) In addition, the following deductions are made on his monthly salary:
 NHIF shs. 230
Service charge  shs. 100
Loan repayment shs. 4,000
Co-operative shares shs. 1,200


Calculate his net pay per month.								(3mks)
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